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Sé‘.c_tg‘bn- A:({36x2 ma r:[fcs.)%é

1 6 30, four options are givéit. Onie of thern is the correct:

For eachi question from 30, four optioris : of th corre
o {12, Fror ). Shade fhis Sorréetoval (1, 2, 3 or 4) on the .

answer. Make your chof
Optical Answer Sheét;. -

1. Study the classification table below:

-Animals

Groyp A | GroupB
_bear | anf
. fabbit b - bee

. delphin .. cockioach.

Which animal is gidugied wiergly?

(1) bee
{2) whaié
4} cogkroach
b follewing didgranis most accurately re preseints the body parts of
an ant?

(1) 2

© | Q




3, Alan draws up a classificatior table as shown below. Which one of the following
sets is nof cofrect?

(1) | Deer 5. Paper

@ | Breadmouild  Plastic bottle

@L|  Wooden chair  Chalk

@yl . Rosephit | Pencil

4. The table below shows W& dhatacteristics of four animals, W, X, ¥-and Z. A tick
(y indicates the presence of the charasteristic,

x 1 ¥ b ¢ |

Which one of the following animals is most likely to be a guppy?
{1y  Animal W

{2) Animal X

{3) Animaly

(4) AnimalZ
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Three similar balls of different

Y. The balls stay at the positio

materdals, P, @ and R

%,

N as shown below,

arg placed in liquids X and

Liguid X _i%

(3)

Liquid Y —f;

14)

Liquid Y

Liquid X




T

Susan conducted an experlmenf {6 study the hardness of four différent maferials,
W, X, ¥ and 7= Stie iised the sharp ends of & glass rod and a wooden rod fo
serateli eachi of these materials. She recorded her obseérvatidhs in the table

below.

‘Based on the fesulls in the . above table, which ong of the folfowing statements is-
true?

(1} X and Z are fiarder than wood.
(2} Xand ¥ are harder than.glass.

{3} W and Z afe harder thaw glass.

(4} W is thie feasthard smong the matedals.

iagrarm below shews & living plant

Which one of the follewing is travelling along the path shown by the arrows in the
diagram above?

{1} Food

_(2) Water
{3) Oxygen.

(4) Carbon Dioxide



" Paul camed out an experiment with: four setups; A, B, C and D as shown in the -
dlagram below At the end of the expenment it was obsérved that some of the
potied plants grew well but not the othersd

5 Setup A Set-up B
 Well-lit room - Welllit room

' Plant is not watered | Plant watered daily
 Fertiliser Z added to the soit Fettiliser Z added to the soil

: Setup O .
| iark reo Dark roam
Plant is noﬁ watered | Plant watered daily

| Eertiliser Z aédeet o the soil

What was the likely aim of Paul's experiment?

(1) Tofind out whether the plants need light and water ta grow well.

{2) To find out the amount of {fight needed:. by thee plants te grow well.

{3) Tofind out whether the plants need I|gh’t and fertiliser te grow well

(4) Tofind out whether the plants.resd light, water and fertiliser to grow wetl.




10,

Which: of the following statements about fungi isfare frue?

Fungf cah make their own food;

Seme furgi grow on dead matfer.

Bifd's nest fem befongs to the fngi family.
Fungi need enlyswater and warmih fo grow:

w i@l vs R

(1} Bonly

(2) A and C only
(3) AandDonly
{4} B, CandD only

Roger carricd out an-experiment fo investigate the conditions nécessary for the
gérmination of seeds. The diagram below shows thé set-up of his experiment.

& fayer of oil

I, wwet cottary woot

Aiter two days, the seeds in beaker Y germinated but the seeds in beaker X did
not. Why were the seeds.ii beaker X not germinating?

(1) Lackofair

(2) Lackoffood
{3) Lackefiight

(4)  Lack of warnth

39



1f.  Which one of the following diagrams shows the correct life: ¢yele of a flowering
plant?:

(1) — —— 'geedg =

/

flower seedling
fruit //

seedling:

/

fruit éeé‘dj’

\\ flower / . |
/ “

seed

(3}

fruit seediing

\ flower /

fruit seedlmg

\ seed

@




13.

Study the classification chart befow:

 Mattor |

E

Living thing
3

| Plant

| Aniraal

- Nor-living thing

h

—

' Non-miagnetic |

E Magnetic

Which one of the following eorréctly represents A, B, € and D?

A

o

[’1'1_08‘3{_

snaif

steel” -

" nickel

L |

ferm

sabblt - |

=

K&

cactus

ant

- ﬂf Gl

iwan

4 |

mu-shroem

guppy

= copper

Which part of the human digestivé system A, B, € or L prodiices digestive juice?

(1)
@
(3)
(4)

A: Gullet

B: Stomach

C: Large intestine
D: Smali intestine

Aonly

A and D only
B and Conly
B and D only

4\



14.  Study the flow diagram shiown befow carefully,

- Start.

Yes.

Stomach

Gullet

- Lurigs

b

skat |

G

¥

With reference {o the above table, which of _ih,ef@'_ilbwmg represents the

most stitabile headingsfor P; ‘@ Rand §7°

@ |

®

4)

™ J

huntan body

{ st p‘ért of the

diggstive

Dogs it bieak
AHown-foed?. .

girgulatory
. m?

[Tisktpartotihe |

digestive

Deés it break

- Systern?

down food?

1sit part of the
circutatory
system?

10




15,

16.

16| Wiaseular

Study the didgram below:

| - Respiratory
systerii

Di_g_e_stiiie;
system

"Subsfanc_:e ¥

| System X

ﬁﬂipaﬁs of
body.

Which oné of the following best fepresents System X and Substanee Y in the/

diagrait above?

Undi’gested i‘eéd

4y | Cireulatery

Undigested food

Which of the follewing statements describe(s) the life- sycles of a freg and a

dragonfly?

A They have a 3-stage life cycle.

B “The young resem

ibles.the: adult,

© -Theyoug HOEE A I times before besofring-an-adilk

1) Apnly

2) AandB.only

(3) Band Gonly
4y A, Brang Conly:

11
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" 17.  The diagram below shows the different stages i the [ifes €ycle of an animak.

farval

sl
egg
\ adul .~

stdge

Whiceh of the following animals go tiirough the life cycle ‘as shown above?-
& Chicken
B Butterfly
C Wosquito
T Cockroach

(1) Aonly

{2} Aand D only
(3} BandC only .
(4y B, Cand D only

18 ThHe rd‘i‘égram below shows the development.of & bed bug from arreggfa an adulf,

Vo

Based on the development shown above, what can you infer about the number of
stages in the life cycle of a bed bug?

(1) 3
(2) 5
(3) 7
(4) 8

12




19. The diagram befow shiws thrée bar riagnefs and a t-shaped magnet.

Based on the diagram above, which of the folfowing statéments) about thie poles
of the- magnets isfare true’?

A Fales Rand Y are like poles.

B Pole U will repet poles W and R.

€ - Pole Z wilt repef poles U aned be alfracted o pals R
O Pele X il repet paie T-and be Sttracted to pole V.
(1) Aonly. -

(2}4a0d G only

3y C.ame B-only

(4Y8, € and D only

b

13



20. A, B, C and D are magnets hanging. from sfrings of-twa.differertlengihs as shown
in the diagram below. A plastic tray of steet pins is placed Below the magnets and:
different numbers of pins are atfracted to tﬁaﬂimagnets.

magnets

plastic |

Based on the diagram above, arrange the magnets A, B, C and D thidestendi

(1) B,ADC
(2) B,D,AC
3) CADB
(4) C,D,A/B

14




21.

An froni nail is made Intg a temporary magnet by stroking it with & bar maghet v

thies directior: s shiown ity this diagrarit belowr,

frort nait

Whiert a compass-is brought near the tip, of the iror nail, which one of the fetfowing

diagrams shiows thie correet positior of the compass rigedle?

e

15

27



22.  Eleanor poured some frer filings inte: a petrf dish and placed & clear plastic sheet
over the pelri dish as shown befow. She then placed a-bar magnet on the clear
plastie sheet and observed that the iron filings wers atiracted 6 the magnet.

petri dish
Wiichaire of the following diagrams.best shaws what Eleanecr would obsérve?

iror} Hings

et :5, ..«- N ~ magnet,

(3)

16




- 23. - Whick ohe of the following edtreetly shows the path of light whén a toreh is shone
onfa.a l"ﬂlﬂ'ﬂr‘?

sepa::afeé an 2 wall?. H@ decided fe make a pensc@pe t@ enabfe ham f@ sée where

hig fostball vas,
periscope

football

He used six mirrors, A, B, C, D, E and F. in the periscope fube as shown aboveé. ..
Which mirrors would enable him to see the-football?

1) A, Cand E only
(2) B, DandE only
{3) B,DandFonly
() A,B,DandF only

49
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28, Nora wanfed to find out if moistire was rieedeéd for mould to grow. She placed
ane piece of bisad each into a plastic Bag as shown below.

sealed % A
plastic —=f #
bdg; ‘

dry
wheI’eme_ale .
bread

moisteried
whife bread:

Setuip &

Setup T

The table betow shows the varablss in Nora's experment.

'Tﬂ(p.e_ ofbread Wﬁel‘emeaf bread Wh:fefareaé "

Amounlofwaler potred ot | Gl 5l
bread - ‘ :

i E.éééfi‘é“ﬂ-ééfﬂp is placed Darkcupboard L @"d{@upﬁealﬁé

Typé..of;p'fé'stic bag - Transparent

Why was the experiment not a fair one?

(1) The type of bread used was different.
(2) The type ofplastic bagusedwas the same. -
(3) Waterwas not added to the bread in set-up S.

- {4) Both set-ups were placétl.in the same place.

18




© 26. The diagram below shows a cat catching a butterfly ir the garden ort a sunny day,

Whick one of the followmg cerresﬂy shows the path of light that rakes it poss:bfe-
for the cat o see the buﬁerﬂy?

(1) From the sun fo the eat te the butterly
(2} From thesunfo the butterﬂy fo the cat
{3} From the butterfly to the sun to the cat
: (4}3 From the buifteifly tg the eat to e s Suny

27.  Hui Juaiy, Sharon, Denise and Suzanl cach made a staferient about the ihiee
bags. showri below,

1kg flour 1kg rice kg céins

Hui Juan: The itlemsinthe threabays have diffeisitmass.
Sharon : The items in the three bags have the same mass.
Denise : The three bags of substances have dlfferent volume.
Suzani : : The three bags of substances- have the $4iie volume.

Who has made a correct statement?

{1) Sharon only

{(2) Sharon and Denise only
(8) Detise and Hui Juan only
{4) Hui Juan‘and Suzani only

19



28. A sydnge s filled with equal volume of air and water. The nozze of the syringe is
cavered tightly as shown befow.

Which oré of the following is observed whien the plunger is pushed in?

1}y Thevelume of both the air and wafer rémains the samg.,

{2} The veluing of water increases while e veliie of aif decrédses.

{3) Thé volume of water decréases wﬁile.‘_the vollifhe ot air remiains the same.
{4y The velume.of water remains the sanie while e veldiie 63l decreases.

28,  Smal fieleés were made in the two cans of condensed milk, X ahd ¥, as shown
' befov,
Holes

1 Condensed .| | Cg'r-l.den‘s-ed 1
ik 1 ik

Wil wouild flow out more easily from

{1) ocap Xbecause air inside the éan-.-pus-he‘s the milk otit.

{2) can’y¥ bgbause thére are two holels'for the milk to fl@jw out.

{3) -canbecause airenters through e Hole o PUSHAN Tilk ol

{4) ¢an Y because milk can flow out through.one hole and air can enter from

‘the other hole {6 take up the space. o

20




3¢. Study the flowchart belowt.

—

<« Is ita matter?

=" Does it hav'e.
«_  adefinits
S Shape? 7

- Canitbe
S _coimpressed? -

Whick one of the following best represents W, X and Y7 .

Ay vooneve . Subsiy = Al e E ga.s.tpg, e dne ey

T e et 1L

{2) | Light | Spenge

[ (3) Wind Air

144 Heat: 1 W*afer

‘End of Booklet A 3
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Section Bz 40 fmarks

For questions 3% téx 44, write your answers irt this booklet;

The numiber of marks available 15 showr in the prackefs |- T at the énd of each
question or part question:; ; '

2. A

31. The diagram bejow shows a tish swimmiRg iry e water.. -

(@} Whyis gart Ximperantfo thefish®. © .~ T | [

The diagram below shows ariother bedy part of the fisk,

(b] What is the name of the partiabelled 7? 1]

(c) What is the functionof part Z7 1}




32

Hashim set up: an experiment as shiown: below:. -

clip to prevenf afr from ﬂowmg
through the gfass fubing

: ,} _i T
F . glass fubing
rubber tubirg

aig

beaker

The furnel was fixed tightly to the flask with a stopper. Whei wafet v
the furnel, anly some water éntered the fiask While tha Tost Sto
remaiiied in the funnek.

Howing: arg

{a} Other than loegening the stopper, what coild:Hashii do-fuittie -Set-bip {o make:
alkthe water it the fuinet flow into the flask’ Explalri your afswar. S 7

{b)  What will he observe in-the: ‘peaker of water and the water level in the basin as

the water in the funnél enters the flask? [2]

Beaker of water:

Water level in the basin:




33, -Jolehe wanfed {o magrietise ay steel bar- She used o hiagnets to sfroke the steet
bar as showr in diagfam 1 befov.

4‘_ B I AN

‘e memnam e

steel bar 3,

Diggran 1

a} State the poles.of the magrietised steel bar. 1

(i} At B

b). State w@ ways in which Jolns & able 6 demgetise the magnet she has
.created? Hl

5



34.

Bar $ and bar T are hiung from @ weoden baras shown below:

A magnet is then hung at equat distance 'bet'Ween the fwo bars. The diagram below
shows how bar S and bar T react fo-tlie magriet.

(a} From the result shown above, which bar, S or ¥, is définitely a magnet?
Explain your answer. {13

The diagram below stiows a floating globe which uses the preperties of magnet.

W
X{N-pole}

Y

(b) 1f point X of the gleba is the N-pele of the magnet inside the globe, what is the
magnetic pole of polkits W, Y and Z? . [1%]




35, Jane and‘ Jie Hul set up an experiment ds shiowit below. They wanted o investigate
how the material of the rod affeets the number* of papér ¢lips: attracted. Four similar
rods 4, B, C and o, each macfé; of a dn‘ferenf material, are uséd.,

wire:

["" L Lz LE L)

The two girls T@wered the rodg, one at a s, info a Box of paper clips and récarded
the number of paper cirps atfrac{ed The lable below sﬁaws thes resulﬁ of . the

expenment

(a) The-girls’ teacher-told ther that they did rot conduet a fair fest. Why.is this

{b) Nametwo other vatiabtes that should beé kept the-same forihetestto be farr.
11

(c) The girls observed thatred D did not attragt-any-paper clips. Suggesta reason
why: {1l

59
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T 36, Jum J|e carfied out a series of expedments fe investigats the fiinefion of different .
paris of a plant. Below js one of the experiménts he had sét up.

= plant-

roots
wrapped
with plastic,

/ fayer of oul’\ ~

_—

b wateb—i. . {7

Sfmllar pfants mfo the beakers before addmg & Fayer ef @1E fa prevent wa“l*er fré:m-
; Ssiifer i the tive, biakeisdhree days later,

(a) Whydidthe volume of water decreased in beaker Y blﬁt; nét in X? 2]

{b) Based on the results, what can he conclude from this experiment? 11




a7, Leény setup an ez,;g;e_rfm,en_t: using the apparallis shown belfow. .

G sting | clamips

cof@ urecf
;. water

- Fwier siips, wads , 8
refort stand; ey"Were 'psrtraﬂy I’@Werad mto & basm of Water wuth blue mk as
Sh@wn lr} sefvup’ 1

Sef-up 2 sh@ws E_eng Ch observatlon & milniutes. Ia’ter

ta} '.:Baseef om @bsewa?ten what ean youtell-abbit t%re pr@perhes of mafenafs
-Aan@iB@ T - T i

(b) Based on “‘the obseweﬁ properties, draw Imes to match matenaTs A and-B to
the items- they can be thidde into. ‘ 21

Material A ., o ‘Towel
o Toothbrush
MatérialB o @ Toilet seat

e Shower curtain

A




"*38, Adrian conducted ar investigation as shown in the diagram below.

fﬁater_faﬁ g -

clamp

He clamped.a strip of matenal E at the edge of the table before taping a 40g werght
to the énd of the. strlp Asa result inaterial E bent as shown abeve. Hé measured
fhe distanee ¢ whith was the exlent {a whicfr the material ben. Using the same
4@@ welgﬁt fie repeated his investigation with matedals, ¥, G and H and recorded. -
his resulits in the table below.

b
N

{4} Whatpropery of the materals was Adian investigating? (13

(b)  Which of the following variables should Adrian keep constant for a fair {est?
Put a tick (\/j inthe boxes provided to indicate your answer. 11?

Dlstance ‘d’

Matenal‘@f the str p

Pos:tlon of the material on the tabie

The mass of the weight__.used .

{c) if 5 Adnan were to keep distance ‘d’ constant at Zem but allowed to change
the amount of weights . used, what shouid he observe 1n the. expenment SO
ihat he could till |nveshgate the sanie property of the four matefials? {1




39’; The graph below shows the ameunt of food eafen by a moth throughout its life

cyc[e

g

Amountpffoed -~

(a} ": Whi"ﬁ"‘éffﬁf e graph, AB i{} CD DE or EF, représents the pupal stage of

the moth? EXpTam YOUF answer 23

o)

Name another’ ergamsm whlch has the same niumber of stages in its life cyclé

' a8 a ot - _ {%1]

£3

- 10




40, Study the classification chart befow:

Aniimals;

Has an oufer | . Has &t outer
" covering, of hair | . covering of
: : scales

€ggs | Gives birth to |
. | youngalive |

Layseggs | - |Ghesbithta} |- tays
a - | youngalive | |-

“Group W | "~ Group X

The chiaracteristics of animals A arid B 4re showrt in the table below:

‘Is:coldeblooded | . o
Uses Iungs fo b’rgéatﬁe V7 1 | A
| Has 4 fimbs I - N v
Lives in seawateronly | v ]

(a) Based on the chart above, in which.group can you classify animal A and’
animal B? - 2]

Animal A:

Animal B: .

(b) ~ Animal Cis from Group Z and uses gills to breathe. Suggest what animal C
© maybe. " T

Animal C:

11




41, The diagram below shows the stages it the germination of a seed.. -

-(.a"}- Rearrange the stages, E, F, G.and H, in the correct order fco shiow how a seed -
: becemes a seedl:ng ' !

(b} What would. an@pen f@ the development of the seed i there were no sunitght
at sfages E G andk £37a Expfaen YOUF aRSWEr. 21

65

12




42. ' Study the flowchart befow:

| Start |

Does it fay: "~ Yes Yes

S €99s?

v
=z

No 2

No: ‘

< Canitswim?

_~Foes ithave < Yes

No|

Z

{a} Fiom the Hlovehart above, identify the letter that represents each of the -
Hfollowing animals. ' . ERY S

i Penguin :

fi. Ostrich

{b) From the flowchart above, state the characteristics of animal Y. [11

{c) State the similarities between animals W and X_ 13

13




43. Sarah filled up a 1000em® air-tight box with air and placed it on an electronie

welghlng machine as shown in the d‘iag;ram below.

efectronic .
weighing
machine

(@)

®

{c)

. air-tight box

air pump:

Mass of the aic-fight box with 1_@@69&13_& air =204.3¢

Would the reading on the électronic weighing maching iricreasi, detrease of .

remain the samé if Sarak puriped in anather 50Gem® of air infe the air-tight
box? : 3

Would the velume of air in the container increase, -decrease or remain- the

same after Satah had pumped iri the 500em® of air inte-the-gir-tight box? 1}

Explain your answer in-part {b}. L : 1]

3

14




44 - DaWn placed four cardboards A B Candb,ina stralghi lme as shown below:, She
' 'punched a hole ir each of the cardboards. She then placed & glowing picture at the
_énd of the cardbeards and tred to view the picture through the holés from the otfisr

end.

cardbggrds
A% hole

gfowmg ‘ - «. position of
- pleture [} : ¢ Dawn's eye

(a} WhywikBawsi niet be able lo sée the picture fror the pcssm@n as shown iny the _
Q}ag(am abgyg‘zﬁ Coe : ‘ - [TI

(b) Bawn placed 2 mlrrors in the same set-up to enable her fo see the plcture
Complete the diagram below to show the positions of the two mirers. (One- of

the mirrors. has Been drawn for you.) - i
‘cardbegrds
vl hole
glowing position of
picture || i Dawn's eye
o lfrj mirror
A B C D

END OF PAPER
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EXAM PAPER 2012

SCHOOL : €C€HLJ
SUBJECT : PRIMARY 4 SCIENCE

TERM 1 SAL

. 4 N

SR AA (iip QL[ 0i2[ Q13 [ Qi4] Q15 Ay,
' 1

2

213 2 4 1 1 1 1 1 3 3 4 | 4 2

018019020 021 [ 9221Q23] 024 [ Q25 {026 [ 9271 Q28] Q29 [ Q30

1

2 3 1 3 3 3 1 2 2 4 4 2

31)a)it protects the fi sh from the surroundings.

b)Gills.
c)It enables fishes to breathe i in water,

SZ)a}He should uncllp the clip. Alr-in the ﬂask will be able to escape through

b)Beaker of water.: H& wah‘ld bubbfes formmg

Water fevel in tha“Basin : Waterfével ia the ‘hasin rese,

33)a}i)North-séeking: po]e ii)South-seeking pole.
b)shE can heat the magnet/hammér or, hitthe: magne‘ta];dmp the imagn:gt

seu_rﬁ,g'_._ IHimes/pass it throligh an A. C'eurfent Sotenbid giickly to reniovethe
magnet, .

¥

34);

a)Bar §. Only magnet repel each other and the diagram shows:that Bais -

and the magriet-are repelling each other,

b)W»-}N-pole
Yo5-pole
Z5%pole

Page 1to2 page 1

¢



35)a)The number of turns of wire on rod Bis dlfferent from that of other rods.

This, more than one variable is changed making it nota fair test.
b)Distance of the box of paperchp and rod and the type of wire.
c)It is not made of a magnet:!c materlal so it cannot be magnet:zetf

36)a)The roots of the plant in beaker X is wrapped with pfastic therefore itis
unable to absorb water the roots of the plant in beaker Y is not wrapped with '
plastic, therefore it is able to absorb water. :

b)The roots help plant to absorb water.

37)a)Material A is waterproof but material B is noi;
b)Material A : Towel , Toothbrush , Toilet seat , Shower curtain -

Matenal B : Towel

38)a)Andy is trying to find out the flexibility of the materials/how faritcan
bend/ability to bend breaking. .
b)Position of the material on the table
The mass of the weight used :
c)Observe (amount of) weight need to bend each material-by 2em.

39}a)DE. At the pupal stage, the pupae will not eat any food.
b)Mosquito/butterfly/mealworm beetles/ants jﬁee

40)‘a)A : group X B:group Y b}Swéﬁdta"li:g uppyimol!:es

41)a)E->G->H>F
b)It will centinue to germinate as it does’ not niged sunlight: for
photoesynthesis/te make feod. The'seed 1eaves wdtﬂd have prowded the

seedling with feod during germination.

42)a))W )X
b)It does not lay eggs and it has hair.
c)They lay eggs and cannot fly.

43)a)it would increase.
b)it would stay the same.
c)Air can be compressed as it has ao defmte yolume.

-44)a)Last hole is too high and light travels in as traitline so light doees not
Tl
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